MDSC / MDFC %% V

JHERFEET23 mindman

AT

MINDMAN 358 % 5 2% RE A S50 W 50 e 388 e ) 2 A Y R )
B G EDRE R R BARE AR O KR SO AR g —
RGBS PR AR IZ L - W R 2 M Ly i
A o U IPU B~ 5 S AR MR RR R - (HAEAE SRR
N > MRS RERIERTT  EEAE] MINDMAN 3
JERR % 7 2 1S5 T A SO R R TR TS LR i B BB
SCRINZERE > (ERE S A S an R A A - BEARES
HOE VRIS EMER A L i - BEM SRR F e
Gb o B8 LAFERBE OGS A BRSNS A TR T (B -
MDSC %1 : T (HEfHE) R

MDFC 3251 : mIgH#Rw<:

FEShAR R S - PR - SRR SR o RN R
MDSC %%l MDSC-0806 - MDSC-1008 - MDSC-1210 -
R E SRR RIRRE R AT ST Lk -

Hh A % 1 iy & B R A

MINDMAN 3885 fliT &% o 1= LGRS R AR ~ dilcs ~ K
P ~ 528 ~ TR ~ SRR o E OS2 M TR
B TR B DY W R YRR 2 R s FR N AR
AL ——FEH - [EIRE R PO B 2 YRR R PO A 2 (BT
FLEREINE © EIMIIHERS - SR RE JE R A B S
TRABIE - Herb B - MINDMANGHRESE 7 2515 AE RS
Brhryye PR AL -

AR

MDSC—-1415—1—-[0—-M14X1.5
— T

SME R ) EEEA

) (om) 2 AR 82 5F B
MDSC : 0] 3 ( 5 By f#ifE) ke
MDFC : w[3i#1)hE JE © BT HEE
N : S EEE T
T JER 5% 1y 2 EAL 0 T % 1y oy o ELE - i |
WEEL PU AR R IHER R 60 o (E R IR ) B e R |
A R EIHST o R SR ERE I B o DRI A . \ Wikt
B — i B AL o AR 107 2 5 e 53 5 M B A Bk 7 AR e A 2 00T E | T owr
ORI 5 T L RCK 2 R 55 - o " -
AE—SEMTTRLPY » BHGRS By HELUR/ 1 J1 5 1E MINDMAN jiig EL Rl
AR SR HR LI e 3384 - L | G
e | bAcE- S
[HiEZS R
PU ‘ Py
TR Prefl, | o
- e REE
R 1k

TR TR 3
M PO ‘mindman




MDSC Fnfal (e BhifE) vhie

JHERFEE 23 mindman
Kk -
— it wﬁ;ﬁg R | e ggﬂi BRI
(mm) HEE (ko) (mis) Lzt (c)
(Nm) (Nm)
MDSC-0806-1 6 1.8 09~56 2.0 2,400 —10~+70
MDSC-0806-2 6 1.8 25~10 1.2 2,400 —10~+70
MDSC-0806-3 6 1.8 56~225 0.8 2,400 —10~+70
MDSC-1008-1 8 3.2 09~44 2.6 5,760 —10~+70
MDSC-1008-2 8 3.2 28~10 15 5,760 —10~+70
MDSC-1008-3 8 3.2 10 ~ 40 0.8 5,760 —10~+70
MDSC-1210-1 10 6 1.8~12 2.6 10,800 —10~+70
MDSC-1210-2 10 6 5.3~18.7 1.5 10,800 —10~+70
MDSC-1210-3 10 6 12~75 0.8 10,800 —10~+70
MDSC-1412-1 12 16 4.7 ~32 2.6 28,800 —10~+70
MDSC-1412-2 12 16 14 ~ 50 1.5 28,800 —10~+70
MDSC-1412-3 12 16 56 ~ 200 0.8 28,800 —10~+70
MDSC-1415-1 15 20 59~27.8 2.6 36,000 —10~+70
MDSC-1415-2 15 20 17.8 ~62.5 1.5 36,000 —10~+70
MDSC-1415-3 15 20 62.5 ~ 250 0.8 36,000 —10~+70
MDSC-1425-1 25 28 46~25 3.5 58,800 —10~+70
MDSC-1425-2 25 28 14 ~87.5 2.0 58,800 —10~+70
MDSC-1425-3 25 28 25~ 350 1.5 58,800 —10~+70
| 28 H | g1k H
. = . =
© ©
o ) n : m m
©
» w ' L L
/ / / \_/
E 1712 F B 1712 F B
A G
AMBIR~F -
e g L B c D E F G H I s
(mm) (9)
MDSC-0806 M8x1.0 6 53 5 6.5 2.8 8.5 33.5 — 1 3 12
MDSC-0806-N M8Xx1.0 6 — 5) — 2.8 — 33.5 44.5 11 3 1
MDSC-1008 M10x1.0 8 62 5 8.5 3 8.5 40.5 — 12.7 3 20
MDSC-1008-N M10x1.0 8 = 5) = 3 = 40.5 53.5 12.7 3 19
MDSC-1210 M12x%x1.0 10 72 4.5 10.5 3 9.5 48 — 14 4 36
MDSC-1210-N M12x%x1.0 10 — 4.5 — 3 — 48 62.5 14 4 34
MDSC-1412 M14x1.5 12 92.7 8 12.2 3.5 13.4 59.3 — 19 6 66
MDSC-1412-N M14x%x1.5 12 — 8 — 3.5 — 59.3 79.3 19 6 63
MDSC-1415 M14x1.0/1.5 15 103.4 8 12.2 3.5 13.4 67 — 19 6 79
MDSC-1415-N M14x%x1.0/1.5 15 — 8 — 3.5 — 67 90 19 6 76
MDSC-1425 M14%x1.0/1.5 25 133.4 8 12.2 3.5 13.4 87 — 19 6 90
MDSC-1425-N M14x1.0/1.5 25 — 8 — 3.5 — 87 120 19 6 86
M mindman




MDSC Fnfal (e BhifE) vhie

JHERFEE 23 mindman
= Eai'j( 75 = RIS /J\% = JE
AL (fnfff) ol | FECTLRIL \BEFIE g | IR
(Nm) g (Nm)
MDSC-2020-1 20 35 6.8 ~27 3.2 42,000 [ —10~+70
MDSC-2020-2 20 35 17.5~70 2.0 42,000 [ —10~+70
MDSC-2020-3 20 35 48.6 ~ 777 1.2 42,000 —10~+70
MDSC-2030-1 30 46 9~36 3.2 55,200 | —10~+70
MDSC-2030-2 30 46 23~92 2.0 55,200 | —10~+70
MDSC-2030-3 30 46 64 ~ 575 1.2 55,200 | —10~+70
MDSC-2050-1 50 62 10.1~124 3.5 63,240 —10~+70
MDSC-2050-2 50 62 18.3 ~ 253 2.6 63,240 | —10~+70
MDSC-2050-3 50 62 55 ~ 496 1.5 63,240 | —10~+70
| R BhE H
_ © -
4 1
:B )
E 1T F B
A
N U5
. o 258 H
oi ﬁ
© L
F
s
782 F B
G
HUE iy 1712 A B c D E F G H I i
229U R (mm) 9
MDSC-2020 M20x1.5 20 130 9 17.8 5 16 85 — 26 8 200
MDSC-2020-N M20x1.5 20 — 9 — 5 — 85 114 26 8 196
MDSC-2030 M20x1.5 30 158 9 17.8 5 16 103 — 26 8 221
MDSC-2050 M20x1.5 50 222.5 9 17.8 5 16 147.5 — 26 8 293
M ‘mindman




MDSC Fnfal (e BhifE) vhie

JHERFEE 23 mindman
» e | BN pwma | wema| B0 | meme
HUGR (mm} R I RE B (ka) (mis ) R IS HE 7 )
(Nm) g (Nm)
MDSC-2525-1 25 78 15 ~69 3.2 70,200 | —10~+70
MDSC-2525-2 25 78 39 ~433 2.0 70,200 —10~+70
MDSC-2525-3 25 78 108 ~ 1733 1.2 70,200 —10~+70
MDSC-2540-1 40 122 20 ~108 3.5 87,840 | —10~+70
MDSC-2540-2 40 122 50 ~ 381 2.2 87,840 —10~+4+70
MDSC-2540-3 40 122 244 ~ 1991 1.0 87,840 —10~+70
MDSC-2550-1 50 140 20 ~124 3.7 100,800 —10~+70
MDSC-2550-2 50 140 48 ~ 438 2.4 100,800 | —10~+70
MDSC-2550-3 50 140 194 ~ 2286 1.2 100,800 —10~+70
MDSC-2580-1 80 198 24.7 ~ 99 4 118,800 | —10~+70
MDSC-2580-2 80 198 44 ~ 396 3.0 118,800 | —10~+70
MDSC-2580-3 80 198 176 ~ 1584 1.5 118,800 —10~+70
MDSC-2725-1 25 78 15 ~69 3.2 70,200 —10~+70
MDSC-2725-2 25 78 39 ~ 433 2.0 70,200 | —10~+70
MDSC-2725-3 25 78 108 ~ 1733 1.2 70,200 —10~+70
MDSC-3660-1 60 260 57 ~ 231 3.0 124,800 —10~+70
MDSC-3660-2 60 260 130 ~ 813 2.0 124,800 | —10~+70
MDSC-3660-3 60 260 520 ~ 3250 1.0 124,800 | —10~+70
MDSC-2525 MDSC-2540
MDSC-2550 MDSC-3660
MDSC-2725 L W g H [T s BHEH
8 /
3 ﬂ}[____ ] m o ===y 1T
) ]
N J
E 171 ! F ‘B F B
T
A A
NETEy MDSC-2580
J 2 H "
_ fl _ g = L gy EBEH
2 o 2 /
= i = === o 1}
/
| F B E|_ iR F | B
T T T i
G A
7R it
pinl]
HUGE R (mm) A B|C|D| E F G | H I @
MDSC-2525 M25%x15/2.0 25 152.6 10| 23 8 | 16.6 | 101 — | 32 10 341
MDSC-2525-N M25x15/2.0 25 — 10| — 8 — [ 101 136 | 32 10 336
MDSC-2540 M25x15/2.0 40 211 10| 23 8 | 34 127 — 32 10 430
MDSC-2550 M25%x15/2.0 50 226.6 10| 23 8 | 16.6 | 150 — | 32 10 430
MDSC-2580 M25x15/2.0 80 333.6 | 137 | 23 8 | 16.6 | 100 — | 32 10 578
MDSC-2725 M27x3.0/1.5 25 152.6 10| 23 8 | 14.5| 101 — | 32 10 335
MDSC-2725-N M27x3.0/1.5 25 — 10| — 8 — 101 136 | 32 10 330
MDSC-3660 M 36X%x1.5 60 247 11| 36 | 10 | 22.5|153.5| — | 46 15 | 1074

mindman




MDFC wiai#oie

JHERFEET23 mindman
= 3
" it | K s || SO e
HUBE () 5z K B (ko) (mis) 2 L BE )
(Nm) (Nm)
MDFC-1410 | 10 15 | 2.9~120 32 27,000 | —10~+70
MDFC-2016 | 16 28 | 54-~224 e 33,600 | —10~+70
MDFC-2020 20 35 6.8 ~ 280 3.2 42,000 | —10~+70
MDFC-2525 | 25 78 | 15~624 20 70,200 | —10~+70
MDFC-2550 50 140 27 ~ 1,120 3.2 100,800 | —10~+70
MDFC-2725 | 25 78 15 ~ 624 3.2 70,200 | —10~+70
o Shisgist Hig H
.
- ©
2 ﬂ  E—
©
E i F B
A
N U L shims HiEH
D‘ |
S
E==t R
-
1T F B
A
71 =
U5 3 A B D E F H |
il R i) ¢ &)
MDFC-1410 M14x1.0/15 10 | 1019 | 115 | 122 | 35 | 134 | 67 19 | 6 81
MDFC-1410-N M14%x1.0/1.5 10 88.5 11.5 — 8.5 — 67 19 6 78
MDFC-2016 M20x1.5 16 132 15 17.8 5 16 85 26 8 218
MDFC-2016-N M20x15 16 | 116 | 15 — | s [ Y 26 | 8 | 214
MDFC-2020 M20x1.5 20 136 15 17.8 5 16 85 26 8 219
MDFC-2020-N M20x1.5 20 120 15 — 5 — 85 26 8 215
MDFC-2525 M25%x1.5/2.0 25 158.1 15.5 23 8 16.6 101 32 10 361
MDFC-2525-N M25x1.5/2.0 25 | 1415 | 1565 | — | 8 — [ 101 32 | 10 | 356
MDFC-2550 M25%x15/2.0 50 232.1 15.5 23 8 16.6 150 32 10 470
MDFC-2725 M27%x1.5/3.0 25 158.1 15.5 23 8 16.6 101 32 6.5 865
MDFC-2725-N M27x1.5/3.0 25 | 1415 | 155 | — | 8 — [ 101 32 | 65| 350
M ‘mindman




MDFC wiai#oie

mindman

JHERFEET23
_ = . s < |
" it | K s || S0 e
TR () K S RE B (ka) (ms) R HhE )
(Nm) (Nm)
MDFC-2540 40 122 |23.8~976 3.2 87,840 | —10~+70
MDFC-3625 25 110 21~ 880 32 52,800 | —10~+70
MDFC-3650 50 220 43~1760| 3.2 | 105600 | —10~+70
MDFC-2540
S g H
o [
o (Al === r ] | ]
|| -
E 172 F B
A
MDFC-3625
MDFC-3650 | s
’—y‘ Shisgit & H
a
77777 -% P — ]
/|
E it G F B
A
1712 &
B
Tk Bz (mm) A B c D E F G H I @)
MDFC-2540 |M25x15/20| 40 | 2165 | 155 | 23 8 | 34 | 127 — |32 | 10 | 460
MDFC-3625 |M36x15 25 | 186 18 36 | 10 | 225 | 1065 | 14 46 | 15 | 974
MDFC-3650 | M36x15 50 | 248 18 36 | 10 | 225 | 138 | 195 | 46 | 15 | 1144

mindman




M

mindman

STC snnder
SRR 28

TE N RE < RSF R E R RS T

S 07 SERE VT R A 2 TR

V- —=
f - w (eI ¥
Z FEH] ZHETR
e FHAE -
STC-08 STC-20
M8x 1.0 M20x 1.5
A A & — A .
MDSC-0806 — ) e MDSC-2020 9 7 TN =
U/ MDSC-2050 © — N\ A ¢
‘ . . MDFC-2016 ‘ o ‘
‘ MDFC-2020 ‘ =2
STC-10 STC-25
M25x 1.5
QLI M AT J—
MDSC-1008 an P MDSC-2525 o — s
] ‘ﬁ, 2 MDFC-2525 © /R
Lim 12.7 ‘ 46 ‘ 32
STC-12 STC-25L
. M12X%1.0 . M25x 1.5
GG " CIi5Ey
MDSC-1210 r@w . MDSC-2540 o — -
N\ MDSC-2550 3 Wk
M MDSC-2580 |
L—“O 14 MDFC-2540 60 |32
MDFC-2550
STC-14 STC-36
M14x1.5 (1.0) M36x 1.5
ISy : LIy U
MDSC-1412 A MDSC-3660 2 — ) .
2 ) @ > )
MDSC-1415 2 ) MDFC-3625 R\
- - \ ) N i} ~
MDFC-1410 | | ‘ - MDFC-3650 N M
28 19

mindman




	1_規格
	2_不可調(自動補償)功能
	3_不可調(自動補償)功能
	4_不可調(自動補償)功能
	5_可調整功能
	6_可調整功能
	7_STC選用配件

